



UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-854-005-00004

Request for Quotation/ Bid Form (Technical Specifications) END-USER

PR #: 94161 DEADLINE OF SUBMISSION:

uppliers Name:	Date	September 13, 2020
	Fund Code:	9161014
	MOP:	Competitive Bidding
	Contact No:	536-2728 (loc. 114)
	Contact Person	Joel Gallardo

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplianed. Do not leave blank entries, put N/A for not applicable.

- 2. Price quotation's to be denominated in Philippine Peso shall include all taxes, duties, and/ or leviles payable.

 3. Bidders must indicate the BRANO and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.

 4. Quotation through favirently is acceptable, Wilming bidder shall submit original signed RQ before issuance of Puchase order (P.O.),

 5. Quotations exceeding the Approved Dudget for Centract shall be rejected.

 6. Documentary requirements per Mamorandom No. 03 Series of 2017 shall be stached upon submission of the quotation.

Ott		

MEN No.	DENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	atv	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED SUDGET OF THE CONTRACT	OFFERED SPECIFICATION Supplies must still have the artisled technical specifications of their either approxi- seath of the inducted parameters of each tequirement's	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank For BAC/ Evaluators only)
1	Potato Tubers	Potato Tubers, Food Grade, 1 kg/pack, high- quality, fresh harvest.	pck	612	70.47	43,130.09				
2	Copra	Copra meal, min 19% CP, high-quality, farm fresh.	Kg	5500	18.00	99,000.00				
3	Cornstarch	Cornstarch, Food Grade, 25kg/bag, high-quality.	bag	30	1,300.00	39,000.00				

4	Distilled Water	Distilled water, 10 Li/bottle, must be distilled in well knowned distilling facility, with royal blue background color and white cap with easy carry handle.	btl	70	140.00	9,800.00		
5	Fermented Food	Fermented food samples, (atchara, bagoong, burong talangka, etc.), high- quality, freshly made.	pck	10	300.00	3,000.00		
6	Food Incentive	Food incentive for sensory evaluation, (biscuits, candy, bread, juice,etc.), Lot (MAM-6)	lot	6	1,000.00	6,000.00		

7	Fresh Milk	Fresh and Pure High Quality, Class A Raw Cow's milk, farm fresh.	L	40	60.00	2,400.00		
8	Fresh Milk	Fresh and Pure High-Quality, Class A Raw Carabao's milk, farm fresh.	L	40	100.00	4,000.00		
9	Fresh Milk	Fresh milk (pasteurized or raw), either goat, cow, or carabao's milk, 1 Li/ packaging. High-quality, farm fresh.	pck	60	100.00	6,000.00		

10	Purified Drinking Water	Purified drinking water, refill, 5 gallons per slim rectangular plastic jug or 5 gal per round water container (fits electric water dispenser).	btl	150	42.00	6,300.00		
11	Sugar	Refined sugar, made from sugar cane, all natural, free from additives, 1Kg/ pack. High-Quality.	btl	20	80.00	1,600.00		
12	Rice	Rice, Maharlika variety (for solid- substrate fermentation), Food Grade, 50kg/sack. High-Quality.	sck	6	3,500.00	21,000.00		
13	Skim Milk	Skim Milk, Food Grade, 25kg/bag, High-Quality	bag	5	1,500.00	7,500.00		

14	Skimmed Milk	Skimmed Milk, 1kg/pack, High- quality.	pck	12	300.00	3,600.00		
15	Vegetables and Fruits	Vegetables and fruits (mustasa, cucumber, radish, green mangoes, wombok/pechay bagulo, etc.); 1kg/pack. High Quality, Farm Fresh.	pck	50	100.00	5,000.00		
16	Washed Sugar	Washed sugar, Food Grade 50kg/bag. High- Quality	bag	5	2,500.00	12,500.00		
17	Sorbean	Soybean legumes, High-quality, Farm Fresh.	kg	25	40.00	1,000.00		

Reviewed and Checked By: Mr. D	ANILO A. SANTIAGO		TOTAL ABC :	271,580.09		
Mr. D	BAC TWO					
0	BAC TWO				TOTAL QUOTED AMOUNT IN	WORDS:
in order to assure that manufacturing defects years extended warranty (if applicable) in Delivery meted within collecter days.	it feest (30) celenciar days from the date of submission. In this becomested by supplier, a warming security what be re- the case of NON-EXPENDABLE SUPPLIES after acceptant	guired from the contract as a by End-user of the deliv	stated herein.	SUSANA M	MERCADO, P	h.D.
lward of contract shall be made to the lowest	quotation wich complies with the technical epecifications. An	other terms and condition	stated herein			
UPLB reserves the right to reject any or all off Any interineations, erasure, or overwriting shi	ers as may be considered most advantageous to the Universit if he valid only if they are signed or initiated by you or any of	ety.				
UPLS reserves the right to reject any or all off Any interineations, erasure, or overwriting shi	ers as may be considered most advantageous to the Universit if he valid only if they are signed or initiated by you or any of	ety.	Negotisted Procurements Sma		Negotidad Procurement-Bilantific. Bindusty or Artisto Work, Eschurie Technology and Mode Services (Schol 13 f.)	Negatived Procurents Emplany (section 13.2)
JPLB readwas the right to reject any or all off my interinations, erasure, or overwriting the guiraments for Buppliers (GPPB Resolution	ers as may be considered most advantageous to the Univer if he valid only if they are signed or initiated by you or any of in No. 21-2017)	ity. your duly authorized repre	Negotated Procurement- Sma Value Procurement (Section	Rad Property or Venue (Section	Scholarly or Artistic Work, Exclusive Technology and Media Services	Programment- Emergency (Section \$3.2)
JPLB reserva the rigid to reject any or all off try interinations, ersours, or overwriting shi quiraments for Bupptiers (OPPB Resolution 1 Mayor (Noviness Permit 2 PRINGIPS Repairs on Number	er as my be considered most adventageous to the University of the valid only if they are signed or initiated by you or any of in the, 31-2017) REQUIREMENTS	ity. your duly authorized repre	Negotated Procurement- Sma Value Procurement (Section	Raid Property or Venue (Section	Scholarly or Artistic Work, Exclusive Technology and Media Services	Programment- Emergency
JPLB reserves the right to reject any or all off help interineations, erecurs, or overwriting shi guirements for Bupptiers (OPPB Resolution 1 Mayor's/Business Parint 2 Philips (Respective) Number 2 Philips (Respective) Number 3 Philips (Respective) Number 4 Philips (Respective) Number 5 Philips (Respe	er as my be considered most adventageous to the University of the valid only if they are signed or initiated by you or any of in the, 31-2017) REQUIREMENTS	ity. your duly authorized repre	Negotated Procurement- Sma Value Procurement (Section	Raid Property or Venue (Section	Scholarly or Artistic Work, Exclusive Technology and Media Services	Programment- Emergency (Section \$3.2)
UPLB reserves the rigid to reject any or all off Any interferences, erecure, or overwriting shi quitrements for Bupptiers (OPPB Resolution 1 Majoria/Business Permit 2 (PhiloIEFS Repairuson Number	er as my be considered most advantageous to the University of the valid only if they are signed or initiated by you or any of or No. 31-2017) REQUIREMENTS	ity. your duly authorized repre	Negotated Procurement- Sma Value Procurement (Section	Raid Property or Venue (Section	Scholarly or Artistic Work, Exclusive Technology and Media Services	Programming Emergency (Section 13.2)
UPL, Seaves the right to reject any or all off Any interinations, erasure, or exempting the equirements for Bupptiers (OPPB Resolution 1 Major's Business Permit / Finishing to Repair to Number 1 Property (Search of Majorithus) 1 Property (Search of Majorithus) 1 Property (Search of Majorithus) 1 Property (Search of Majorithus)	er as my be considered most advantageous to the University of the valid only if they are signed or initiated by you or any of or No. 31-2017) REQUIREMENTS	ity. your duly authorized repre	Negotiated Procurement-Sme Value Procurement (Section 93.8)	Raid Property or Venue (Section	Scholarly or Artistic Work, Exclusive Technology and Media Services	Procurements Emergency (Section 53.2)